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26.  “It is extremely hot today.”
The underlined word is :
(1) Adverb of Manner
(2) Adverb of Frequency
(3) Adverb of Degree
(4) Adverb of Affirmation
27.  Identify the éentence written in correct passive voice.
(1) Peter was taught to sing by Mr. Price,
(2) Tim was started to respect by his colleagues.
(3) Ienjoyed taking the children to-the zoo.
(4) They saw him climbing over the fence.
28. “The Sun has ripened the fruit.”
Which one of the following is the Passive Structure corresponding to the Active Voice
structure above ? '
a. The fruit is ripened by the Sun.
b. The fruit has been ripened by the Sun.
c.  The fruit had been ripened by the Sun.
d. The fruit was ripened by the Sun.
Answer options :
(1) donly (2 conly
(3) bonly (4) aonly
29. The verb form of the given noun word “Frost” will be :
(1) Defrost (2) Freeze
(3) Foster ‘ (4) Fructify
30. Identify the correct conditional sentence.

(1) If he left his bicycle, someone will steal it.

(2) 1If you try again, you would succeed.

(3) If he had written the letter, I'll post it.

(4) If we had found him earlier, we could have saved his life.

FTEYT FHTHIS! S / SPACE FOR ROUGH WORK
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31. “None of us knew the way, ”
The correct tag-question for the sentence above is
a. didn'twe? b. did none ?
c. didwe? d. didn’t any one ?
Answer options :
(1) aonly (2) conly (3) donly (4) bonly
32. “The dog that barks does not bite.”
The underlined words are :
(1) Adjective clause (2) Adverb clause
(3) Noun clause (4) None of the above
83. Which one of the following is the one-word substitute of the given sentence.
“A decision which cannot be altered or withdrawn.” '
(1) Inexplicable (2) Inaudible
(3) Irrevocable (4) Illicit
34. The word “Sanguine” is synonymous with the word
a. Serious b.  Sadistic ¢.  Optimistic d. Genuine
Answer options :
(1) donly ' (2) conly
(3) Bothaandb (4) aonly
35.  Adversities provoke one to one’s best efforts.
Select the correct alternative to complete the sentence meaningfully.
(1) put forth (2) putback
(3) putoff (4) putup
36.

Choose the correct meaning of the idiom underlined in the following sentence.

She is leading a dog’s life as her husband is an alcoholic and without a job.

a. alife of misery

b.  alife in which partners are constantly quarrelling
¢.  todo or say something that disturbs the peace

d. to be silent, saying nothing

Answer options :

(1) aonly (2) bonly (3) conly (4) donly

FETT BHETEIS S / SPACE FOR ROUGH WORK P.T.O.
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37. They have a huge reserve of latent talent.

Identify the correct meaning of the underlined word.

(1)
(3)

Unseen
Latest

{2) Modern
(4) Admirable

38.  Match the following pairs :

S

I

d.

Group A

Eccentric L
Infallible II.
Fanatic IIL
Theist Iv.

Answer options :

(1
(2)
(3)
(4)

a b c
v 11 II
I11 I v
II III v
111 v II

HHHHQ

Group B

A person who believes in God

A man of strange habits

A person who cannot make any mistakes

A person with narrow religious views

39. Select the alternative with the words spelt correctly.

(1)
(2)
(3)
(4)

attendence, challange, antena, deficient.

begar, ceilling, cliant, bravery.

attendance, calendar, detergent, emperor

independent, sanitery, neighbour, matirial

40. “I always see eye to eye with my sister.”

The underlined idiom in the sentence above means

a.

C.

stare at

support

Answer options :

(1)
(3)

Bothaandb
d only

b. see closely

d. agree with
(2) conly
(4) aonly

FHoed] HHETATS! IR / SPACE FOR ROUGH WORK
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Read the following passage carefully and answer the questions from 41 to 45
given below : '

The electric vehicle industry in India is growing by leaps and bounds and the
government has taken various steps to promote electric mobility in the country.
Despite that, there is still hesitation among the vehicle owners to shift to electric

mobility.

The reasons for this hesitation are many, including lack of charging
infrastructure, higher cost of EVs and range anxiety. Now, with the introduction of
connected mobility, Imran Mulla, Head of R. and D., JAWA Motorcycles, believes
that it can provide the EV industry a significant boost such that it gains an edge
over other forms of mobility. OEMs are now focusing on making EVs accessible to a

larger audience by removing some barriers.

For greater convenience to customers Imran suggests that an integrated way
of transportation has to be taken where safety and user experience are the primary
focus areas. He adds that there are multiple fronts to implement this integration but
simply said, it has to be intelligent, integrated and safe and with a strong carbon

footprint which we are all working towards.

With these fast changes with respect to connectivity, OEMs also need to adapt
as it is very new for them. Baburao Rane, digital connectivity specialist at TATA
Motors, UK, says, “It is difficult for older automotive players to understand how this
system works.” This is because everything from data transfer to analysis of data
works at a very fast rate. The best approach has to be analysed to create and
maintain such integration. Further, connectivity brings challenges in terms of
backend infrastructure which needs to be designed and maintained. Maintenance of
such sophisticated backend infrastructure is a recurring cost. Will OEMs bear this
cost or will end users bear this cost ? All these questions need to be addressed

keeping convenience of the consumers in mind.

e HHWIS! AR / SPACE FOR ROUGH WORK P.T.O.
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The rapidly growing number of electric two-wheelers (E2Ws) has taken the
market by storm and these are on the way to become IoT device on wheels. There
have been various advancements in battery technology and power devices which
have enabled the development of a connected space. OEMs are trying to integrate
features like satellite-based positioning receiver, cellular modem for cloud
connectivity and short-range Bluetooth or Wi-Fi link for local tasks. This
connectivity enhances user experience and safety, making the overall solution
adoptable. “Today, having a small hardware that talks to a CAN is an easy way of

making the motorcycle connected,” Imran says.

With this connectivity, users will have access to real-time information about
their motorcycle, like its geolocation and traffic data nearby. There is a focus on
implementing advanced warning systems or early warning systems where a
particular congestion on the road is notified much earlier. Another aspect is how
personal information like geoposition of the user is shared among other users for

more responsiveness. All of these are the challenges that are being worked upon.

“But to begin with, it is more about providing the convenience and ease to a

rider by having diagnostics available which are real-time”, he concludes.

41.

The passage shows that
a. digital connectivity experts are concerned with vehicle users and consumers.

b. manufacturers of motors and motorcycles are thinking of increasing their
customers,

¢. the Original Equipment Manufacturers (OEMs) can easily adapt connected
mobility.

d. it is easy for the government to promote electric mobility in the country.
Which of the above statements is/are correct ?

Answer options :

(1) donly (2) aonly

(3) conly (4) Bothbandd

FHTedl HETEIEE ST / SPACE FOR ROUGH WORK
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42, The integrated system of transportation should mainly think of
a. advancements in battery technology and power devices.
b. data transfer and data analysis. _
~¢. modem for Connectivity and Bluetooth or Wi-Fi link.
d. Safety and experience of vehicle users.
Which of the above statements correctly completes the statement in the question ?
Answer options :
(1) bonly (2) conly
(3) Bothaandd (4) donly
43, - Vehicle users are reluctant to use electric vehicles because
a. the OEMs have failed in removing their barriers.
b. the EV industry does not provide connected mobility.
c. tfuhefr are concerned with cost of EVs and range of average- gained per litre of
el.
d. they know little about connected mobility.
Answer options:
(1) donly (2) bonly
(3) conly (4) Bothaandb
44.  One of the challenges discussed in the passage is about
a. how to integrate various features for connectivity. |
b. how the vehicle user will access information about his geoposition and
geolocation of his vehicle.
¢.  how the government will promote electric mobility in the country.
d. who will pay the maintenance cost of backend infrastructure.
Answer options :
(1) conly (2) donly (3) aonly (4) bonly
45. The phrase “by leaps and bounds” used in the passage means

a. by jumps and boundaries b. by jumps and limits

c.  very fast (rapidly) d. by government and by OEMs
Answer options : -

(1) bonly (2) donly

(3) conly (4) aonly

Freeq] HTATS! ST / SPACE FOR ROUGH WORK : P.T.O.
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46.  “He knows how to break in horses.”

The underlined idiom in the sentence above means

a. stop

b.  control

¢.  discipline

d. hold by force

Answer options:

(1) donly (2) conly (3) bonly (4) aonly
47.  “The boy who is wearing a green shirt is my student.”

In the given sentence, the underlined words “who is wearing a green shirt”

describes :

(1) Noun clause (2) Adverb clause

(3) Adjective clause (4) Both Noun and Adverb clauses
48. “Shall I buy a scooter ?”

The modal in the sentence above has been used to express

a. promise

b.  suggestion

c. seeking permission

d. giving advice

Answer options :

(1) donly (2) bonly (3) conly (4> aonly
49.  Choose the correct sentence.

(1) He has been working for two months.

(2) He was slept when the thief broke in.

(3) He has gone to Pune, yesterday.

(4) We have gone there last week.
50.  Fill in the blank from the options given below :

“She has been missing Monday last.”

(1) since (2) from (3) for (4) during

Fee] HFTETE! SN / SPACE FOR ROUGH WORK
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51, wmredEad ey ek femma Remrd s
(1) 9= (2) W= (3) 4 (4) =
All districts of Maharashtra are dividedinto _ _ administrative divisions.
(1) Five (2) Six (3) Seven (4) Three
52. e 9@
w wor fagd x@eq
A, wAH I g
LA S U | II.  efErr
. ofifem . fss
3. WA YW IV. g
qgit I
H q . =+ 4
1 IV I I II
(2) III II I v
@) IV I II I
4) III | \Y I I
Match the following : ‘
States Hydroelectric Praject
a. Karnataka I Durgapur
b. West Bengal - II.  Gandhisagar
c. Odisha III. Hirakud
d. Madhya Pradesh IV. Tungabhadra
Answer options :
a b c d
1 IV I I11 II
(2 III II I v
3 IV 11 II I
@ m v 1I I
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53. UENRIS S yeeeh fawrd yate s e oma 2

(1)
(2)
(3)
(4)

RaTETE

o
HiehHIT

g

Which administrative division has the highest number of districts in Maharashtra ?

1)
(2)
(3)
(4)

Aurangabad
Pune
Konkan

Nagpur

54, WAAEA Si3al & I9C A SIAU AT AT HAA =T
(1) U=, s, qut @R, meEd @i
(2) TeEd @r, gui @, gham, g

(3)
(4)

g, U, aut @R, Meed @
et @R, aat @, o=, sarEm

Arrange the coal fields of India from North to South in the proper sequence.

(1
(2)
(3)
(4)

Ranchi, Hazaribagh, Wardha Valley, Godavari Valley
Godavari Valley, Wardha Valley, Hazaribagh, Ranchi
Hazaribagh, Ranchi, Wardha Valley, Godavari Valley
Godavari Valley, Wardha Valley, Ranchi, Hazaribagh

56.  TARIQ AV I Fehed IreTER gttt AT R SR,
(1) a9
(2) dqaEh
(3) 4=
(4) U

Tarapur nuclear power station is located in taluka of Palghar district.

(1)
(2)
(3)
(4)

Turbhe
Talasari
Wada
Palghar

FEET HINTHISE ST / SPACE FOR ROUGH WORK
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56. @i faam wiew w0 9 9 9@ Hae
frurs o7:  fi wdrem T et % S wat @ TR A2 .
fum @ s Aden fove me R’ anfhy sworEe wewmTed ‘@i @ AR sfeEs
E G '
it I
(1) faum a1 anfor faum 5 = S0 oA,
(2) faum 31 st s anfor faum = 9% IR,
(3) Taum a1 3% amgm onftt fvm 7 st R,
(4) Taum a1 onftr faym 5 g0 9 omem.
Examine the following statements and choose the correct option.

Statement A : The world’s largest River Island ‘Majuli’ is in Sindhu river bed.

Statement B : In Tibet, river Brahmaputra is known as ‘Dihang’ and in Arunachal
Pradesh, as ‘Tsangpo’. '

Answer options :

(1) Statement A and Statement B both are correct.
(2) Statement A is correct and Statement B is wrong.
(3) Statement A is wrong and Statement B is correct.
(4) Statement A and Statement B both are wrong.

57. @ faumm waw Fa T 9y @i faEn
Ry 7:  MeEd a adft T S ane FOT GaEtet — wfieT SR AR,
tl'ﬂf’ﬁ'ﬁﬁ:
(1) faum a1 anfhr faum 9 S8 a0 aTRq.
(2) faum o1 st amgm anfr foae @ < R,
(3) Taum =1 3 o onfo foaum 7 e o1,
(4) T a1 onfor feam 9 91 7 armRe.
Examine the following statements and choose the correct option.

Statement A : The hill range that spreads from Raireshwar to Shingnapur is known
as Satpura hill range.

Statement B : Godavari and Tapi river basins are separated by Satmala — Ajanta hill
range.

Answer options : ‘

(1) Statement A and Statement B both are correct.

(2) Statement A is correct and Statement B is wrong.

(3) Statement A is wrong and Statement B is correct.

(4) Statement A and Statement B both are wrong.

1 SIS ST / SPACE FOR ROUGH WORK P.T.O.
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GIehe fagmr dcdr auer @ 99 g9ig fas,

faurT a7:  sgmeAw faegr 1920 wrelt viten arer FREMT Ugh 3% IuRvAE ST

fayrr 7: wgwerr fiegma 1950 wrelt afgen dewrlt areR wRE@E ol (YEUER) 39
IRVIT AT

ot Iue

(1) faum =1 onfr faum = - sier omaq.

(2) faum o1 st orgA onfer faum % 9% M.

(3) faum a1 g% s P faum = s g,

(4) fauam = onfor faum ¥ I = amga.

Examine the following statements and choose the correct option.

Statement A: The First Sugar Factory was established at Rahuri in Ahmednagar
' district, in the year 1920. .

Statement B: The First Co-operative sugar factory was founded at Loni
(Pravaranagar) in Ahmednagar district in the year 1950.

Answer options :

(1) Statement A and Statement B both are correct.
(2) Statement A is correct and Statement B is wrong.
(3) Statement A is wrong and Statement B is correct.

(4) Statement A and Statement B both are wrong.

59.

HERTg e T T higd JETEd] Jesard.

(1) i : :

(2) TEET WK

(3) ufeww gemmEn ,

(4) @ Frewten hearn wem

Cluster settlements are found in area of Maharashtra.
(1) Konkan

(2) Deccan Plateau

(3) Western Ghat top

(4)- Hilly areas of Eastern Vidarbha

e FTHIEIST AN [ SPACE FOR ROUGH WORK
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WY 37 AT T & AT S Tl

Yy ar

Prar
A, [ L
T "t I
%, fuEegu III.
s. gfwags vV
qatdt I .

<) ] ® T
(n IV II | I11
(2) 1I I II1 IV
3) 1 II1 IV I1

4y I v II I

19

wea

Match the pair of Column A and Column B.

Column A

Peak

Astambha

Salher
Chikhaldara

d. Harishchandragad

I

e

Answer options :

a b c d
1 Iv II I III
(2) II I m v
3 1 III v I
(4) III v II I

IT.

I1I.

214

Column B
Districts
Ahmednagar
Amravati
Nandurbar
Nashik

FTT] BIHTATS! SR / SPACE FOR ROUGH WORK
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61.  SidehisETETSt WTO + Fiviedl v 7 Fafaoesn Ad ?

. AMTERE Yrels faamar mater Tqor
q. VST g grerEr

%. TERHE O T9E

T UHd g UK I g
gt W

(1) o A

(2) w9 A
(3) W A, § M &5
(4) hedH uwd

Which essential conditions have been suggested by WTO for globalization ?
a. No limit of geographical boundary for trade

b Free capital movement

c.  Free flow of technology

d Free international movement of labour

Answer options:

(1) aonly

(2) banddonly

(8) a,bandconly

(4) All of the above

62. 1993 — 94 =N FdHHUT AEE YohET R 110 THETEEA TFRIET
UGG ITE Bl
{1 30
(2) 95
(3) 85
(4) 75
The 1993 — 94 budget had reduced the maximum rate of import duty from
110 percent to percent.
(1 30
(2) 96
(3) 85
(4) 75
T BHTATS! SN / SPACE FOR ROUGH WORK
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63. @renfisu=AT Sfshdd wivrca St Auefia T ?
3., HEWHE 8 g @t JaavEhaet g@ w0

9. T AR ¥R

F. a9 anfls &

3. HIEH I ATrh @IeiEAIS gRai SO
it I

(1) ad o1 enfr s
(2) %ad A, ¥ nfor &
(3) ad ¥ fUr =
(4) ol od

Which things are expected in the privatization process ?
To open public sector for private investment

Free trade policy

Special Economic Zone

pe T

Government industry ownership transfer to private sector

Answer options :
(1) aanddonly
(2) a,bandconly
(3) bandconly

(4) All of the above

Z14

64, YA A 1991 wHid TEHT =9 |iel Bl
(1) 1-1 3= SieR
(2) 101 IS B
(3) 20-1 ¥ Sl

(4) 205 AT ST

India’s Foreign Exchange Reserve was in June 1991.
(1) 1-1 billion dollars

(2) 10-1 billion dollars

(3) 20'1 billion dollars

(4) 20-5 billion dollars

Feeq] HHRATS! AR / SPACE FOR ROUGH WORK
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65. iz Aah axg=t @id), faww, fafa ol smam FA.
(1) s
(2) us.Hham.
(3) wHEL.IH.
(4) dtesh

deals in procurement, distribution, export and import of selected
agricultural commodities. '
(1) NAFED
(2) FCI
(3) NCDC
(4) SIDBI

66. IS, @ieEie, AR (LPG) HRonaiaid WRa @Rt 100 o9 R wwm

TAIUhIEAT Giefiedeh! garenitar wart gt g,
3. I

9. 3wy

F. @l e 9

3. gEER

et I W ;

(1) FT s, F AME
(2) a3, &F A €
(3) wad 3, 9 TS
(4) a4 A, § A H

Under the Liberalisation, Privatisation, Globalisation (LPG) Policy, Government of

India allowed 100 percent FDI in sector.
a. Manufacturing
b. Pharma

c.  Private foreign banks
d. Telecom
Answer options :
(1) b,candd only
(2) a,candd only
(3) a,banddonly
(4) a,bandconly
FHTegT HHETATS! ST / SPACE FOR ROUGH WORK
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67. wﬁmwﬁmﬁ%g@m_ﬁm.

(1) == V

(2) ..

(3) W

4) T

The Headquarter of World Trade Organization is at
(1) France |

(2) UK

(3) Russia

(4) Geneva

68. 1991 — 92 wad fEid= sfem T 1-52@%&:1@1531993-94@%@
(1) 10
(2) 20
3 30
(4) 40
Due to fall in dollar value of exports by 1-5 percent in 1991 — 92, the exports grew by
over percent in 1993 — 94,
(1) 10
(2) 20
| (3) 30

(4) 40

T BHTAETS! SIATT / SPACE FOR ROUGH WORK ' P.T.O.
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69. @i ¥ Hafia o,
3. TR
9. WRER T
%, g
T i
aieft I
1) A

(2) waaEafirs
(3) Had I ;M0 &
(4) Ttedd @E

Privatisation is related to
a. Quality

b.  Non-corruption

c. Efficiency

d. Disinvestment
Answer options :

(1) aonly

(2) banddonly

(3) aandconly

(4) All of the above

70.  SITEA TEE ITHN @l AERRS GUYE S e 8.
(1) wigaeht=
(2) TSR
(3) fag srderaen
(4) A T
The Government hands over the PSU’s to private sector, which means
(1) Capitalisation
(2) Privatisation
(3) Mixed economy

{(4) None of the above

TTEIT HETETST AT / SPACE FOR ROUGH WORK
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71, faum ofiee smea @il SR faam g o ?
(1) TR U3 uew § wniis geaigh fasst .
(2) T il foms g =
(3) o wage fadda Svaren s Afier Teewdiee e,
(4) foam fwesh foenm wee gen 40 A St org 4.

Which of the following statements is incorrect about Legislative Council ?
(1) 1/3™ of its members are elected by local bodies. '
(2) Itis not subject to dissolution.

(3) President has the final power to decide about its composition.

(4) Minimum strength of Legislative Council cannot be less than 40.

72. HERIKE U Yard gedl @eie faan faamm

fevamETET 3Ua Hiear .

3. Ty Faga sere g $i ofg=rela omn st sifavammen sua st
AU AT,

i I

(1) foum a1 st ong, ¥ TR o
(2) foum 3 0= o}, 91 TR M
(3) T foam st sEa
@) A foram PR emRa

Consider the following statements about Gram Panchayats in Maharashtra :

A. A motion of no-confidence against Sarpanch may be moved by not less than
one-third of the total number of the members of Gram Panchayat.

B. No such motion of no-confidence shall be brought within a period of three
' months from the date of election of Sarpanch.

Answer options :
(1) Statement A is correct B is false.
(2) Statement B is correct A is false.

(3) Both the statements are correct.

(4) Both the statements are false.

T HHTS! ST / SPACE FOR ROUGH WORK P.T.O.
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73.  @roliedsht wrt ‘Afagd wdtr S Tt ?
(1) 9 T9 a=n
©(2) YR w@rg aar
(3) YR yeTEh Aar
(4) YR qieh| dar

Which one of the following is net an ‘All-India Service’ ?
(1) Indian Forest Service

(2) Indian Foreign Service

(3) Indian Administrative Service

(4) Indian Police Service

74, I AATCEAT AT TEEET G H0arE] AUSR Sioner A ?
H., THHEN TG99
9. gegudt
%, WEIETIER wegadin
3. HEISETER TETe
it I
(1) TR ATT 2) BRIATH
3) wHH (4) SH g
Wheo has the right to remove the Judges of High Court from their post ?
a. Governor of the State
b.  Chief Minister
c.  President through the process of impeachment
d.  Governor through the process of impeachment
Answer options :
(1) aandbonly (2). b and conly
(3) conly (4) donly

75, Wi ST HAGE HEUH YR SH9HE Teda; TERdl et aig S
3Teft AR ? :
(1) 7z (2) 73 (8) 74+ (4) 429

Which of the following Amendment Act of the Indian Constitution added provisions
mainly regarding Panchayats ?

(1) 72nd (2) 73 (3) 74th (4) 420d
WTWI?&G‘FTT { SPACE FOR ROUGH WORK
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76. @il e AT
A, T REA I ‘gune’ AT gEaTd
q. Wi g II. “awrt ATfes g& ot
%, TqIe MO AR 1. ‘S =i geiy e Hoes

T WIS HENH V. e o W
it IM :

H q

Cd

1 IV I11 I II
(2) III v I II
(3 1II I IV III
@ Iv I II1 II

Match the following pairs :
a. Baba Padamji L Starting of the Newspaper
‘Sudharak’
b.  Savitribai Phule II. Starting the weekly ‘Prabhakar’
c. Gopal Ganesh Agarkar III. The collection of poetry
‘Bavan Kashi Subodh Ratnakar’
d. Bhau Mahajan IV. The novel ‘Yamuna Paryatan’
Answer options :
a b
1 1Iv III
(2) III v
I
I

c d
I II
I II
v I1I
411 II

(3 I
4) IV

77. WA SIS Goid AE e, quan 9 fawaege @ aeefien [ T qard
hdl. '
(1) TS acud gE
(2) wTEvTE FHE
(3) Temfg
(4) SEAHE G

Mahatma Jyotiba Phule has praised the three basics of Liberty, Equality and
Universal Brotherhood in his book
(1) Sarvajanik Satyadharma Pustak
(2) Brahmananche Kasab
(3) Gulamgiri
(4) Shetkaryancha Asud
ToeT HERATS SR / SPACE FOR ROUGH WORK P.T.O.
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78. ST aTH A Snfeameliean I At FH .
H.  feanft Har HEarn e
¥, hIUGTS Yehedrel Iuwel
%, GBI AT ArearseT gEa
3. e qeai gEaa
FhAdh I foar st smga ?
it 3=t
(1) ad A, § ST (2) Sa Y, T AME
(3) od § T (4) ¥, 9, F Mg
Anutai Wagh worked for the upliftment of Tribal Society.
a. Establishment of Tribal Seva Mandal
b. Installation of Koswad Project
¢.  Beginning of Play School (Daycare Centre) and Montessory
d. Beginning of Educational Institutions
Which of the statements given above are correct ?
Answer options :
(1) a,bandconly (2) b,candd only
(3) bandconly (4) a,b,candd
79. YT aIUh! HIVIA a3 THNR T5ga ?
(1) o Frmumer sdeE o,
(2) g gd A wfgul 3TEd, AgEE T SER HUE.
(8) et gum e 2.
(4) YASHIEL favaTE 89 .
Which of the following principles was not the principle of Arya Samaj ?
(1) Encouragement of female education. '
(2) Vedas are full of knowledge; spread the knowledge given in Vedas.
(8) Do not worship idols.
(4) Do not believe in rebirth.
80. ‘facres feags @ UUR TG il el ?
(1) firamm T Fiws ' (2) foaa sgaR
(3) TITEA A& FATR (4) wETe $l
Who wrote the book Vital Vidhwansak’?
(1) Shivram Dyanba Kamble (2) Kisan Bandsode
(3) Gopal Baba Walangkar (4) Mahatma Phule

THeedT HIHTATS! AN / SPACE FOR ROUGH WORK
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81, YR HIVCH M AT 3 G GUEN PO swaerdl WAt wea dvaren o

el 318 ?
(1) Yad (2) «TATY
(3) wEEs (4) ¥ fem

Which among the following countries, has decided to use India as a base to address
their food security concerns ?

(1) Bhutan (2) Bangladesh
(3) Maldives (4) Saudi Arabia

82, 2018 HEd NAR G-l (ATTWNT) T IS ToheuTd IgHTS Shel. I Fehedtd Wi

FR GEU <91 hivwan ?
(1 == (2) ¥ad
(3) wedR (4) SFERY

In 2018, India inaugurated the construction of cross-country oil pipeline project.
Which is the other country partnering in this project ?

(1) China (2) Bhutan
(3) Maldives (4) Bangladesh

83. W@ MU ¥F IreATfid 6% 91 ™ TS B ?

(1) dezde 2019 2) =R
(3) Bt a=mm (4) o WEX
What is the name of India — China joint military exercise ?
(1) Hand-in-Hand 2019 (2) Mitra Shakti
(3) Maitree exercise (4) Vajra Prahar
84. G ToaE Fo5 faum anfer wifseearET Wi THASHIR a7 .
(1) =ghram 2) fau
(3) wE (4) G TgEE
Sir Creek roughly divides the Kutch region of Gujarat from province of
Pakistan. -
(1) Balochistan (2) Sindh
(3) Punjab (4) Khyber Pakhtunkhwa

TOEqT TS SR / SPACE FOR ROUGH WORK P.T.O.
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85,  WwareAl §F E Lt S .
(1) 6 ‘ 2 7
3) 8 4 5
India shares maritime border with countries.
1) 6 2 17
(3) 8 (4 5
86. ‘i ® Audl Hen feew =1 T AYFIAT AT 8.
(1) Toamoft ==e Gres
(2) TSP WTEA SITh
(3) o T el
(4) SUEHRE TS SRR

Marathi feature film ‘Panghrun’ is based on a short story by

oy
(2)
(3)
(4)

Chintamani Tryambak Khanolkar
Balakrishna Bhagwant Borkar
Shripad Narayan Pendse

Atmaram Ravji Deshpande

87. g AT setsel! Al W S S 9w HOIT HATA.

(1)
(2)
(3)
(4)

1971 =47 gGH®
1962 <A1 JGHTX
1998 <A1 HW
1857 =T JGHM

Amar Jawan Jyoti was built as a tribute to Indian soldiers after the

(1)
(2)
(3)
4)

1971 war
1962 war
1998 war
1857 war

FoedT HHTATS! ST / SPACE FOR ROUGH WORK
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88. @il fEAwFTHl & Foicar THSHWT Turedl ‘Tgg WRA AT AIHHM 2021 TS FREHTE

% ot et
1) 125 , (2 200
(3) 100 : (4) 75
‘Prabuddha Bharata’, a monthly journal of the Ramkrishna Order, started by Swami
Vivekananda completed years of publication in 2021.
(1) 125 (2) 200
(3) 100 (4) 75

89. nﬁzozzqﬂamﬁﬁaﬂﬁé\w%ﬂgﬁﬁaﬁgﬁaﬁmm Fogar ?

(1) s (2) i

(3) W (4) TR

Which of the following countries was not part of the European Union as of March
20227

(1) Germany (2) Norway

(3) France (4) Austria

90. “vfordie 9= o1 & ; Afwdin 75 T % e I1 GRS ST HI 7
(1) s
(2) woHH TR
(3) weh o=
(4) Taforem safora

Who wrote the book “A Little Book of India : Celebrating 75 years of Independence” ?
(1) Ruskin Bond

(2) Salman Rushdie

(3) Shashi Tharoor

(4) William Dalrymple

LT BMTATS! AN / SPACE FOR ROUGH WORK P.T.O.
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91. AT WG & wifaer) duer Hioft T el ?

(1) .. aEE (2) <R i

(3) fofm =g = (4) WIS A

Who formed the Abhinav Bharat, a revolutionary organization ?

(1) V.D. Savarkar (2) Lokmanya Tilak

(3) Bipin Chandra Pal (4) Balkrishna Chapekar
92. 3 SdUe Feie Tohar camemn Geamiys Sa TErE ToRd.

(1) 9Img HErS (2) Tae

(3) wTBa | 4) e |

was not a follower of Jyotirao Phule or his Satyashodhak Samaj.
(1) Shahu Maharaj (2) Govande
(3) Walvekar (4) Lokhande

93. YT 9 Hefud I¥ Ii=A1 ASTT dEl.

I 7

A, STl wrev L 1909
¥, weew ol e II. 1916
%, favea magr 99 SEg III. 1905
g @ R IV. 1906
T I

H oq h s
(1) III I v II
2 Iv I II I1I
3 III v I II
(4 1III I II v
Match the pair event and related year.

I I

a. Partition of Bengal I 1909
b. Establishment of Muslim League II. 1916
c. Separate Electorates Act III. 1905
d. Lucknow Pact IV. 1906
Answer options :

a b c d
(1) III I v II
(2 IV I II II1
3y III v I IT
4 III I II v

Foeg] HTATITE! SIFT / SPACE FOR ROUGH WORK
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94. U FWIR ISTLS TF e
(1) g sl
(2) w. .
(3) A, it
(4) AT AT e
The Father of Indian Workers Movement is
(1) Shashipad Banerjee ‘
(2) Prof. N.P. Ranga
(3) N.M. Joshi
(4) Narayan Meghaji Lokhande-
95, WRdE ULT gue e
#. W™ Ak v, 991, A|, w, it 1w Tme w smdieer s,
4. AndEr gaee faamiorst s
F.  WRARTT VEINTET arafau.
. SATeA WA W .
TRt HIvR fram R ama ?
gt I
(1) ww A, T oS (2) wFE, F s
(3) wad A, § T % (4) IR T
Objectives of the Indian National Congress :
a. To Iﬁake the people of India forget the differences in religion, race, caste,
language, geographical territories and bring them on a common platform.
b.  To deliberate the problems of Indians.
¢. Toincrease the feelings of oneness among the Indians.
d. To put in efforts for Indian Independénce.

Which of the statements given above are correct ?

Answer options :

(1)
(3

a, band d only {2) b,cand donly
a, b and c only {4) All of the above
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96. FHN "eAT Fiearft gefta B,
(1) sfEE wwE |
(2) =g O
(8) ERMA fussli ol
(4) fegram wiviciiee Rl sraifieem
Kakori incidence was related with
(1) Abhinav Bharat
(2) Communist Party
(3) Indian Republican Army
(4) Hindustan Socialist Republican Association

97. ARAT TST TN ufEel sreaw o ER ?

(1) <enmg A (2) I =g FA

(3) Thirrmer fgan " (4) = TR

Who was the first President of Indian National Congress ?

(1) Dadabhai Naoroji (2} Womesh Chandra Banerjee
(3) Firozshah Mehta (4) Justice Ranade

98. It THIEN wulka we fafewmfaeg @ TFret.

a1, I d2ad Beh | w.  Tm R g
%. e ge | T s R
Tatdft IW :

(1) waa s g (2) w3 oMo %
(3) wE H (4) BH T

He organised the Ramoshi’s and revolted against the British.

a. Vasudev Balwant Phadke b. Ram Singh Kuka
¢. Birsa Munda d. Kajar Singh
Answer options :

{1} aanddonly (2) aandconly

(3) aonly " (4) donly

Feeq] BHTEIS! SR / SPACE FOR ROUGH WORK
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99, ‘st miferser e’ < gEA@ Tt et

(1) &+

(2) WS TS

(3) WgTEN AT For

(4) @ §.am. EER

‘Anath Balika Ashram’ was started by
(1) D.K.Karve

(2) M.G. Ranade

(3) Mahatma Jyotiba Phule

(4) Dr. B.R. Ambedkar

100. ‘#rEr ST & s Hh fadie 2
(1) TS |18
(2) foga T i
(3) dfsar wmard
(4) T TS
Who wrote the book ‘Majhya Athavani’ ?
(1) Annabhau Sathe
(2) Vitthal Ramji Shinde
(3) Pandita Ramabai

(4) Ramabai Ranade

FET FTATS! STAT / SPACE FOR ROUGH WORK A P.T.O.
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8) wgfer=d fift e fafire sefta 7= o (& 7%) W, wwgfRRrafiiEa sambia ar 5@
FER F= F FeAW T Hd FOATAT A F IR, 3@ T A3 9 AR IAERE TR
I Fen ‘sl g R Yiiey e AfifEm-82” adie adder. Sran
mﬁaaﬁmﬂmmmﬁmmﬁﬁ%mﬁ@mwﬁwmﬁﬁa
T .

(9) W YHIHFHAEE AR ffda Feiel 3@ SUeaHe IHCERICT & NYYRIE A e TRt
USA IO WAl SR, Wi UfianeeraTE WoargE SHEaRY e SwRafyer Wkl
AR 7 AT v R sayae g,

¥. %. 201.

¥. #. 201.

T ST
A 9 T FOAEE IO gEd: e S ?
(1) @ gIHE qeEd (2) SweReg fEmErR
(3) TS TwE WA @) T T
T IR 9 IW “3) T THHE T 3@ 3. g A1 TN SW “3)” dRT.
T WIS I F. 201 90He IaiwEs “(3)” ¢ e NN DRIifhd HE
Tl TS TR,

© @ 0 ©

I U Tga TAYfRdle TS YIS qHET SOU-HATR BT gReTel Sasien Ridse
IaEFalE o o yEwHEEEe gEfta ade quient SEifhd FEA SrEamEl. gITERiEn
e Tl VT St areE, W e a1 v O awge 1.
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